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QUESTION 1
What is one way that NSX improves network performance?

A. Virtual machines in different subnets residing on the same host route traffic through an NSX controller, keeping traffic
on the host.

B. Virtual machines in different subnets residing on the same host route traffic through an NSX logical router, keeping
traffic on the host.

C. Virtual machines in different subnets residing on the same host route traffic through an NSX Edge gateway, keeping
traffic on the host.

D. Virtual machines in different subnets residing on the same host route traffic through an NSX switch, keeping traffic on
the host.

Correct Answer: B

QUESTION 2

What is the default delay when the active NSX Edge instance fails before the standby instance takes the active role?
A. 3 seconds.

B. 6 seconds.

C. 15 seconds.

D. 45 seconds.

Correct Answer: C

QUESTION 3

A company hosts an internal website on multiple virtual machines on a Logical Switch with VNI 7321. A
Distributed Router serves as the virtual machines\\' default gateway.

When an user resolves the URL for the website, the internal DNS server responds with the IP address of
one of the virtual machine\\'s IP addresses in a round robin fashion. The company wants to deploy an NSX
Edge Service Load Balancer and maintain the use of the Distributed Router for the virtual machines\\'
default gateway.

Which mode can the NSX Edge Load Balancer can be deployed to meet the Company\\'s needs?

A. One-Arm

B. Transparent
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C. Local
D. Global

Correct Answer: A

QUESTION 4

How many Virtual IPs does the NSX Edge Load Balancer support?
Al

B. 32

C.64

D. 128

Correct Answer: C

QUESTION 5

A vSphere cluster consists of three ESXi 5.5 hosts. Each host has five powered-on virtual machines. Which option will
successfully configure the hosts to use a newly-created vSphere Distributed Switch (vDS) with a single port group?

A. Using the vSphere Web Client, for each host, select a host, click Manage, click Networking, and click the icon to Add
host networking.

B. Using the vSphere Web Client, for each host, select a host, right-click the host, select All vCenter Actions, and then
select Add Networking.

C. Using the vSphere Web Client, select each of the running virtual machines and edit the settings of the network
adapters.

D. Using the vSphere Web Client, select the newly created VDS and click Add and Manage Hosts.

Correct Answer: D

VCPN610 VCE Dumps VCPNG610 Practice Test VCPNG610 Braindumps

VCPNG610 VCE Dumps | VCPNG610 Practice Test | VCPN610 Braindumps 3/3


https://www.pass2lead.com/vcpn610.html
https://www.pass2lead.com/vcpn610.html
https://www.pass2lead.com/vcpn610.html
http://www.tcpdf.org
https://www.pass2lead.com/vcpn610.html
https://www.pass2lead.com/vcpn610.html
https://www.pass2lead.com/vcpn610.html

